MANUAL

N / )
— I
/

PRO SWITCH BRNEL




PROCEED WITH CAUTION

You must read these instructions fully and carefully
before using this product.

This product is designed for simulator use only.

It is not a toy and must not be used by children under
14 years of age.

If this product appears to be damaged in any way, do not use
and contact Precision Sim Engineering immediately.

Keep this product away from liquids; it must not be used outdoors.
Do not disassemble, modify or alter this product in any way.

Retain this manual to ensure correct and safe usage throughout the
life of this product.

For further information about safe use and maintenance of this product
please visit: precisionsimengineering.com/user-guides

DISCLAIMER

Precision Sim Engineering Ltd declines all liability for damage or
personal injury caused by this product if not used for the intended
purpose, or as directed in any instructions or technical guidance
provided by the manufacturer, including this manual.

Non-compliance with instructions, warnings or procedural requirements
relating to the device shall forfeit any warranty.



=\ PRECISIGN
Q) &) SM ENGINEERING

CONTENTS

Pro Switch Panel (PSP)

PSP Mounting Plate

2.0m USB 2.0 Cable Type A/ Type B (not shown)

6 x M4 thumbnuts

RAM Mount hardware:

e 2 x M5x16mm countersunk bolts

2 x M5x16mm socket cap bolts

2 x M5 nyloc nuts

2 x M5 aluminium profile t-slot nuts

1 x 4mm hex key

1x 3mm hex key

‘ VESA Mount Hardware:
® 4x M4, 35mm length spacers
® 4 x M4x12mm countersunk bolts
® 4x M4 nyloc nuts

® 1x 2.5mmtorx key



!

000000
@m

=\ PRECISIGN
Q) &) SM ENGINEERING

2.



=\ PRECISIGN
Q) &) SM ENGINEERING

RAM Hardware

RAM Mount Instructions

1. Insert the 2 x t-slot nuts into the aluminium extrusion channel.

2.Use 2 x M5 cap bolts to attach the RAM mount to the

aluminium extrusion.

3. Fix the PSP mounting plate to the RAM mount using

2 x M5 countersunk bolts and 2 x nuts. 1

' ®> Inserting T-slot nuts

S

0




4. Fit the PSP onto the mounting plate and fix it in place
with the 6 M4 thumbnuts.

5. The RAM mount may now be adjusted into the
correct position using the central handle.

6.0Once the PSP is in your desired position, connect it
to your PC using the 2m USB Cable.

D\ PRECISION
S &) SM ENGINEERING




D\ PRECISION
S &) SM ENGINEERING

VESA Hardware
VESA Mount instructions —_—
Compatible with 75mm x 75mm VESA mounts.

1. Fix the 4 x spacers through the VESA mount and secure
with the 4 x nuts. Ensure these are well tightened.




3. Mount the PSP to the mounting plate
using the 6 x thumbscrews.

4. Connect the PSP to your PC using the
2m USB cable.

2. Fix the PSP mounting plate to the 4 x spacers
using the 4 x countersunk bolts.

D\ PRECISION

QS &) SM ENGINEERING




D\ PRECISION
S &) SM ENGINEERING

ChromaWorx V2.0 Instructions

1. Download ChromaWorx 2.0 from the PSP product page.
2. Extract the ChromaWorx.exe file to your desktop or desired folder location.

3. Double-click the ChromaWorx Icon to open the program.

4 ChromaWorx will open up on the Devices page, here you can find a list of ChromaWorx compatible
devices connected to your PC. Locate the PSP that you wish to configure and click ‘configure device.

ChromaWorx v2.0

( CHROMMA
& 7) Worex DEVICES | LEDS  IMPORT/EXPORT

1. PROSwich




D\ PRECISION
S &) SM ENGINEERING

ChromaWorx PSP settings

ChromaWorx v2.0

%,HRDMH DEVICES |[MLEDS'| IMPORT/EXPORT

ORX

Colour Picker: Click and drag around inside
the circle to select a colour, then click on any
button on the PSP image to change it to this
selected value.

Eye Dropper: To quickly select
an exisiting colour click on

the eye dropper icon. H/S/ LSliders: Use these 3 sliders to fine

tune your selection by adjusting the hue,

When the icon has turned white saturation and lightness of the chosen colour.

you can click on any button to pick

up the existing colour. Hexadecimal: If you have a specific Hex colour

code you wish to match you can typeitin here.

Make sure to click the icon again
when you want to paint the chosen Hexadecimal: ##tfts
colour onto a button.

Apply selected to all: Once you have chosen a
colour you can apply it to all of the PSP buttons
Click on the PSP image to the left to set the by C“Cking here.

colour for a button.

Load / Save: If you wish to save your current
layout click on the ‘Save’ button.

You can load in previously saved profiles by
clicking the ‘Load’ button.

Apply Selected to All

Load




=\ PRECISION
Q &) SIM ENGINEERING

SimHub Instructions

1. Download and install SimHub from the link
on the PSP product page.

2.Once installed, open SimHub from your
desktop. Navigate to the ‘Devices’ tab on the
left side.

3. To add your Pro Switch Panel, click ‘Add device.

SIMHUB - IRACING - GAME DISCONNECTED
@ Devices
P Games
) Car settings
7 Devices
| statistics
@ Dash Studio
2 Aduino
HOM  Shakel
HOh  Shakelt Motors
[ Nextion display
1 Leoxz Simdridge
& Controls and

vailable prop

e+ Additional plugins

SimHub 8.3.12b2_ PSPRefresh | Status : Licensed | New version available : 83.13

[ RO - - o x

No devices configured yet !

Add device

Import device from file

2 Wiki? Discord Server



4. Scroll down to ‘Precision Sim Engineering Pro Switch Panel’, select
it by clicking on it, then click OK to add the device.

5. This will take you to the default Pro Switch Panel page. The basic
PSP profile has warning and spotter flags active as standard.

6. You can then load in any saved profiles from the ‘Profiles Manager’
located at the top of the PSP page.

Visit the SimHub wiki for further instructions:
https://github.com/SHWotever/SimHub/wiki

D\ PRECISION

S &) SM ENGINEERING

SIMHUB - IRACING - GAME DISCONNECTED

[ - o

@ Devices

Pick a supported device

Type tofiter x
-- All brands -~
3DRap

AlphaTecRacing

Ascher Racing

AX206 (Generic)
o Precision Sim Engineering DDU
s

Cube Controls

Generic

Gomez Sim Industries
Grid / SIM-LAB

Innato

Ledinfo (USBD480)

P1Sim

Precision Sim Engineering
Rexing

simCore

Simutec

? Wiki ? Discord Server

10.



Tl

iRacing Example Road Profile
)\ PRECISION

Q &) SM ENGINEERING 1. Download the example road profile from the downloads section of the PSP product page.
2. Use the Profiles Manager in SimHub to load in the profile.

This profile is design to demonsrate the capabilities of the PSP for iRacing, feel free to change it and make it your own.
It uses iRacing pit macros, so make sure you are familiar with these before going further.

The below diagram shows the labels needed to for the profile to work correctly, if you wish to use this layout then
locate the labels from your sticker sheets and affix them to your PSP to match the below image. Then assign each
button to the displayed controls within iRacing.

R
N ON CONTROL A N N AR CONTROL A
Dev 0 Btn 1 Starter: PPN

PER CONTROL A

DRIVE A R
Toggle Windshield Wipers: [Julalit]

R
N RZEA @,
Enter/Exit/Tow Car: [l 0

OPTION A
Dev 0 Btn 5
AUTO TEXT CHAT

0 OPTION A
#fuel 5015 RN
AUTO TEXT CHAT

N . OPTION A OPTION A
Dev 0 6tn 4 #fuel 7515 TR T
AUTO TEXT CHAT AUTO TEXT CHAT
R R
A R OPTION A AR O CONTROL A
Dev08tn 9 Tear Off Visor: R
AUTO TEXT CHAT
R R = oL
NO ‘ R OPTION A MARK M ONTROL A
| #deartiress DML Mark event in telemetry: [JE R TERT]

AUTO TEXT CHAT

HA Ol + SOUND A M HA SOUND A
o ouder e PR

HA Ol - SOUND A P HTO TALK SouND A
C  cuewn IO Push toTalk T RE]

PA OPTION A
pass lefts I LU0
AUTO TEXT CHAT

A OPTION A

D A
Cycle Splits Delta Display: JIEl L)

PA R H OPTION A
pass right$ [ T F)
AUTO TEXT CHAT

Kill LEDs

No button assignment
required. Pressing this
will turn the LEDs on or
off.

When SimHub starts

this defaults to on, so if none
of the LEDs light up just press
this button once.




iRacing Example Oval Profile

1. Download the example oval profile from the downloads section of the PSP product page.
2. Use the Profiles Manager in SimHub to load in the profile.

This profile is design to demonsrate the capabilities of the PSP for iRacing, feel free to change it and make it your own.
It uses iRacing pit macros, so make sure you are familiar with these before going further.

The below diagram shows the labels needed to for the profile to work correctly, if you wish to use this layout then
locate the labels from your sticker sheets and affix them to your PSP to match the below image. Then assign each
button to the displayed controls within iRacing.

N ON CONTROL A

T oo

R
N N AR CONTROL A
Starter: TS

N R OW EEED

REA
Enter/Exit/Tow Car: IR0

R
PRING + CONTROL A

[T leitsping sen Ll R

AR P A OPTION A
AN A
#clear$ PEVERTNS

AUTO TEXT CHAT

R
PRING - CONTROL A

[ Letwspring ser MM

Pu shl Talk Dev 0Btn 9

N
Right Spiing Set IR

OPTION 1:

IN
#fuel 5001 DL TN

HA Ol + SOUND A

I . 00515

OPTION 2

MuelSﬂoIIler {&J Dev 0 Btn 11

AUTO TEXT CHAT

R OPTION A
[T Dev 0 8tn 14

HA Ol - SOUND A

I T 012

A OPTION A

D A
Cycle Splits Delta Display: [ L)

AUTO TEXT CHAT

R R OPTION A
[LLis] Dev 0 8tn 15

AUTO TEXT CHAT

OPTION A
#fuel 1015 00 T

Kill LEDs

No button assignment
required. Pressing this
will turn the LEDs on or
off.

When SimHub starts

this defaults to on, so if none
of the LEDs light up just press
this button once.

\

AUTO TEXT CHAT

OPTION A
#fuel 2515 000 TR )

@D@)

/

AUTO TEXT CHAT

D\ PRECISION
S &) SIM ENGINEERING

12.



D\ PRECISIGN
D £)) SM ENGINEERING

Precision Sim Engineering

Unit 6, Heathfield Gateway
Stacey Bushes

Milton Keynes

MK12 6HP

United Kingdom

e: sales@precisionsimengineering.com
W. precisionsimengineering.com

C€

UK
CA



	1
	0
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	Road Profile
	Oval Profile
	13

